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.     Inverse Poisson    .
Example: 

In samples of milk taken from a bulk transportation vehicle, 40% proved to have no fungal spores. Estimate the mean number of spores per sample, and hence find probability that a randomly selected sample will contain 2 spores.

Question in the form:

P(x = 0) given, so find λ
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P(x    1) given, so find λ
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.     Harder Poisson - Conditional    .
[image: image5.wmf]³

On average in Nelson there are 4 minor traffic accidents per day.
1)  For the Poisson distribution model to be applied to this situation, what assumptions need to be made?

2) On Tuesday, given that there was less than 5 minor traffic accidents, find the probability that there was no minor traffic accidents.

3) If there were some minor traffic accidents on Thursday, what is the probability that there were more than 3 accidents? 
4) What is the probability that there 4 minor traffic accidents on the weekend, given that there were less than 5 accidents.
5) What is the probability there exactly 3 minor traffic accidents on a weekend, with all occurring on the same day.

.     Harder Poisson – Conditional - Answers    .
On average in Nelson there are 4 minor traffic accidents per day.

1)  For the Poisson distribution model to be applied to this situation, what assumptions need to be made?

2) On Tuesday, given that there was less than 5 minor traffic accidents, find the probability that there was no minor traffic accidents.

3) If there were some minor traffic accidents on Thursday, what is the probability that there were more than 3 accidents? 

4) What is the probability that there 4 minor traffic accidents on the weekend, given that there were less than 5 accidents.

5) What is the probability there exactly 3 minor traffic accidents on a weekend, with all occurring on the same day.
.     More Harder Poisson    .
These could involve probability trees, conditional probability

Difficult...

Find the value of λ if P(x = 1) = 2×P(x = 2)

Really difficult...

Find the value of λ in terms of ‘M’ and ‘N’ given P(x = 1) = N×P(x = M)
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